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w1 T H 247 276 286 562|T 4 WHAT5 T H 519 596 598 1,194|% BT 7 T H 1,230 1,608 1, 459 3,067 [ A T3] H 215 275 265 540
B W 2T B 374 405 405 810| T » WEMT6 T H 381 408 424 832|351 BT 8 T H 498 621 617| 1,238|/h | 4,509| 5,348| 5,417| 10,765
B w3 T A 293 350 342 692 s 9,415| 10,765( 10,653 21,418(% BT 9 T H 993| 1,200 1,078 2,278 (%21 T H 99 107 107 214
FE4ET1T B 152 158 142 300 | IE 586 635 680 1,315|KJxHET1 T H 128 118 115 233| _RE2T H 312 366 375 741
P45 ET2 T B 97 83 86 1695 EHT 1T H 313 404 385 789K JA M2 T H 350 387 390 T ZRE3TH 266 309 336 645
P4 ET3 T B 127 152 175 327|% W2 T H 600 700 668 1, 368 5 8,624| 10,519| 9,619 20,138 {224 T H 125 127 143 270
£ L HT 280 267 294 561|%F T3 T H 1,471 1,513 1,442  2,955|W 071 T H 795 905 881 1,786| —{=E5T H 92 116 119 235
N HT 409 419 442 861|% F T4 T H 768 813 770 1,583 (3BT 2 T H 288 370 336 706[3R H 1T H 75 79 79 158
fip L) 213 215 228 43|k P 1 T H 804 934 900 1,834 ({0 BT 3T H 228 259 268 527|R 2 T H 125 145 145 290
1= T 129 123 139 262(k P 2 T H 327 408 402 810[{ L BT 4 T H 727 726 714 1L,440|R 3 T H 123 129 107 236
* F W 177 216 218 434|k 4 3 T H 684 836 864 1,700 {rf S0 BT 5 T H 722 739 723 1,462 |4 & A AT 182 166 201 367
= fF HT 451 471 518 989 |t i 421 390 460 850 BT 6 T H 1,233 1,351 1,311 2,662 & 1 T H 60 53 54 107
K o WE OHT 515 555 569 1,124 | 52 422 505 547 1,052 0 BT 7 T H 1,111 1,092 1,155  2,247|%) & 2 T H 71 78 75 153
W/ b HT 317 317 329 646| A 8 F1 T H 272 335 335 670 (T D BT 8 T H 803 888 741 1,629 & (L 36 60 75 135
KB HET 515 573 559| 1,132|K % F2 T H 240 331 340 671D BT 9 T H 933 882 963|  1,845|/h a1, 566 1,735 1,816 3,551
HinfnE1T B 215 219 235 4544 ¢ 1 T H 511 730 705 1,435({r 0 BT10T A 869 786 753 1,539|= [ 1T H 398 281 317 598
HmEfnHE2T H 276 309 327 6364 F 2 T H 97 128 116 244 Ea 7,709 7,998 7,845| 15,843|% [ 2 T H 87 98 93 191
HmEfiHE3T H 308 381 391 772|4 F 3 T H 332 452 414 866|# & 1 T H 185 202 213 415|% [ 3 T H 244 183 181 364
Ft 5,095| 5,489| 5,685 11,1744 ¢ 4 T H 567 755 704 1,459 |#E #& 2 T H 972| 1,301 1,222 2,523/ K1TH 92 121 100 221
B AKRTL T H 235 272 280 5524 3 5 T H 469 636 622 1,258 |8 #& 3 T H 343 435 440 875|/h& AR2T H 49 57 57 114
By AmT2 T H 362 413 412 825 s 8,884| 10,505| 10,354 20,859|4 H 1 T H 1,339 1, 499 1,502|  3,001|/h@K3TH 175 220 216 436
B KET3 T H 211 275 269 544 | F M1 T H 471 444 522 96|54 #+ 2 T H 983 1,108 1,185 2,293(/Nr K4 T H 232 184 242 426
El1TH 694 703 721 L4224\ & M2 T H 811 786 843 1,629(4 # 3 T H 873 989 974 1,963/~ & AR5 T H 74 76 94 170
Ei2TH 724 881 866 L7TATIR & #3 T H 1,083 1, 100 1,099 2,194 H#H 4 T H 0 0 0 O R 1T H 263 185 245 430
EW3TH 386 510 526 1,036 |3 & M4 T H 731 693 687 1,380|4 #H 5 T H 182 54 160 2148 R 2 T H 257 304 293 597
Ei4TH 790 853 959 L,8I2|W & M5 T H 985 964 976 1, 940 G 4,877 5, 588 5,696 11,284(H R 3 T H 346 208 322 530
EW5TH 537 547 553 1,100\ & M6 T H 390 438 407 845 [ /)N | 52,343 58,720 57,835[ 116,555/ G 2,217 1,917 2, 160 4,077
E e T H 155 204 216 4208 » i1 T H 417 458 453 9lL|Mm 1 T H 352 433 400 833 A1 T H 248 194 267 461
EW7TH 495 540 480 1,020(48 » fi2 T H 795 716 843 1,659 2 T H 421 471 490 961 A2 T H 391 277 298 575
E 8T H 274 311 307 618|Hf [ BT 1 T H 333 414 385 799|/m 3 T H 438 541 545 1,086 A 3 T H 108 128 126 254
EW9TH 3 4 3 7|6 [ BT 2 T H 703 811 807 1,618(Ffn HHET 1T H 221 266 260 526 A 4 T H 61 58 57 115
KHET1TH 306 357 348 705 |fifi fi BT 3 T H 556 588 533 1,121 (fn HET2 T A 283 338 351 689 A5 T H 73 72 76 148
RKHEWT2T H 358 343 319 662 |ffi [E BT 4 T H 464 444 428 872(fF # 1 T H 154 202 201 403|pk A 6 T A 36 47 47 94
RKHEBT3T H 304 398 374 772 =i 7,739| 7,856| 7,983| 15,839|#E 4% 2 T H 166 197 223 420|pk A7 T B 70 84 82 166
K HEWT4T H 303 375 379 75418 BT 1 T H 1,178 1,432 1,314 2,746|# %5 3 T H 178 226 214 440|p% A 8 T A 100 122 97 219
KHEET5T H 307 347 366 713% BT 2 T H 753 957 818 1,775 |4 %5 4 T H 216 254 250 504 [/ 1,087 982 1,050 2,032
T WERT1 T H 661 754 767 1,521 8 #] 3 T H 1,507 1,707 1,506 3,213|4 # 5 T H 500 624 649 1,273 [H & pr & & 9,379 9,982 10,443 20,425
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